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2024
COMMERCE
(Honours Core)

Paper : COM-HC-2016
( Corporaté Accounting )
Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.

1. ()  Fill in.the blanks with appropriate
words : 1x5=5
TolgE HWCT AT DR o7 8

(a) Expenses incurred at the time of
formation of a company is termed

as expenses.
A R T TS (R IS
T @M |

—_—
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(i)

(b) Accounting Standard 14 deals with
accounting for

RARAE 14 Rppors 5Ie Gow |
The
back of shares must be 2 : 1.

()

()

(e)

—_ ratio after the buy

SI*I71GT 279 e e
2t 1 Q9 =iee
Valuation of shares generally
means valuation of shares.
OIS TS e e
ORGSR o1 30 T |

Pre-acquisition profits are treated
as profits,

SIfRERET SHisf wies
— e iR
AT 9 =7 |

L SNEENY

State whether the following statements
are true or false : 1x5=5

TS T 1 SRR wm o o B o

(@)

Unclaimed dividend is sh
ow

u.ndf:x'* the head ‘Other Currenrz

Liabilities’ in the Balance Sheet

IS P eIt B {9 oy
PTS O RromisiTs rgeat 2
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(b)

()

@

(e)

Answer the following' questions :

oo ePTRs T fordl 3

(a) Mention the names of various methods

Buy back of shares must be
authorised by Memorandum of
Association of the company.

ST S P, (PRI AT P
&l ST 2 i |

Superprofit is the excess of actual
profit over normal profit.

wfome 29, JeiRe &ded we (R
wfeRe a4ge e |

Rights shares are offered only to
existing equity shareholders.

wRTREE T [ 28K (e
I AN TG QTR A
o7 |

.Capital redemption reserve can be
utilised for issuing fully paid
bonus shares. f

e ARCES A @i, o sReifee
s SHeig [{fE FN9 @ J9T TR
AR

2x5=10

of valuation of goodwill.

A RS [ ciaferzg i S F9
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(i) Current liabilities

(b) State any two advantages of issue of

Rights shares
" : olete (el
IS T
S iotg [emeam Az 7o Rl (b) Briefly explain the manner of preparing
s ; consolidated financial statements.
& 0;11 two situations which call for Graige e e age TN GICRI0)
€rnal reconstruction of g company 15'3123? Loy w 2
SIS TR ' '
"R @ e
AR S ) -l (¢ From the following information,
({d) Mention any:itwo iiobi _ calculate the value of goodwill under
amalgamation. Jjectives of 3 years, purchase of superprofit.
GFATIR R w01 Sroeety 6 weTe fral SURIRT #[ Sfveres fof I @
(@) Whati el SRR AT e e w4 ¢
i s meant by subsidiary company ? N, Eoda It 5
et profit for las .
4T (i Iferet [ e ame (i) p years were;
Rs. 50,000, Rs. 40,000, Rs. 45,000
3. Answer an ou y ) ’ » y ) y
Y four of the following : Rs. 35,000 and Rs. 55,000.
S5x4= e
TS FRIRI ~1 Riepleatt Bifanr Tea T s B Aasey
v forat ¢ %, 40,000 5, 45,000 B, 35,000
plain the following : Bl =i 55,000 5|
OS2 8 1
. WW E | (i) The net profit includes non-
(i) Securities premium reserve operating profit on an average
account ! Rs. 5,000 p.a.
2SS wigm i Rpie) sigpe oTTed [OoTS \oet:sﬁm'@zraﬁsooo
T SIS SWYE (R R
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(iii) Avera i
g¢ capital employed i
Rs. 2,50,000. s

T8 TRA @t 2,50,000 594

(iv) Norma] rate of return 12%
AJIbE] |
FCIRF 77 129

(d)

Explain ¢
the ‘net assets’ method of

ascertainj

i

ng the consideration f
amalgamatiop_ b

(e) Write in brief apg

4 (Sem-2/CBCS)HC 1 (CAC)/q ¢

TS :
T R R UL

4 (Sem-2/CBCS) HC 1 (CAC)/G 7

equity shares of Rs. 10 each. It has a
general reserve of Rs. 2,00,000. The
company has decided to declare bonus
out of the general reserve and to
distribute the same in the form of
bonus shares of Rs. 10 each as fully
paid to the existing shareholders in the
ratio of one bonus share for every five
shares held in the company.

Pass necessary rJournal entries in the

books of Sunrise Ltd. to record the
transactions relating to the bonus

issue. '
bRz RGeS 5,00,000 BF ST
cefoiar® Ol <3 ST T ATICOH ARIe 7<eH

SJfers 2,00,000 B3 SR | CH=ARTICBIE A<
e Sife ~f 2 SR SeesiEs Reiice 10

St R, A PARCIRS @< T e
SR A e S g

25 RREEE RS b e REe
IR PR TR i i S |
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Answer the following questions : (any four)

10x4=40

ﬁaﬁﬁsmwwMﬁmmmﬁ?fa)

(@)

(b)

What is valuation of shares ? Explain
various methods of valuation of equity

sha_res. 2+8=10
wwmmmﬁs?wwwwmm
Rifeq =iz g <t

What is internal redonstruction ?
Explain the following terms in the
context of internal Teconstruction of g
company ? 2+8=10.

SIS 7T A e 5y Sak o
Wﬁqwﬂﬁwﬁwﬁs@mﬁmw
JIIRIT F44

() Reduction of capital
ASAYNT Y

(t) Subdivision of shares

UAGT SolfieiT

(it}) Consolidation of shares

SIRAI%ET Gt

(iv) Cancellation of capital

TR ool
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(c) The following Ledger balances are
extracted from the books of Moonrise

Ltd. on 31.03.2024 :

FRIZE BT 31.03.2024 ©If¥s ©oTs fral
Yo TEETR Rl (3R ¢
i Amount (%
Particulars R33! = @Z(m ;
240,000 equity shares of ¥10 each. 24,00,000
efStere 10 BRiLE 2,40,000 LT #d
Sundry Creditors 3,20,000
"Ry sieqmE
General Reserve | 2,00,000
e e
10% Debentures 10,00,000
10% A9°@
Securities Premium Reserve 1,20,000
afoefs wftad I
Surpha n St | o)
31.03.2024 SIff® #AS-ETTOH
fRafes AR
Contd.
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You are required to prepare a Balance

Particulars @M Amount (I)
e T s (G3) Sheet of the company as per Schedule
SR 2,00,000 III of the Companies Act, 2013.
&6 _ 2013 54 (T Wiz 51 LI P A3
, d and Building T : oo o
| P o1 T A i 3
G Cash at Bank (d) What is buy back of shares? Explain
T Sy 1,50,000 the conditions to be satisfied under
Cash in Hand Section 68 of the Companies Act, 2013,
Tow &S} 50,000 for buy back of shares. 2+8=10
Stock in Trade ogreei - ok < A 57 2013 Y G
TGS 2ol ' - 7,00,000 wi3e 68 4Rl SR ST T N
Furniture e SiFEETE BT T
% (e) The following are the Balance Sheets
Plant and Machinery of Hitesh Ltd. and its subsidiary
I IS oIS £2:00,000 company Suresh Ltd. as on 31st March
fafe o § oo Hitesh Ltd. o1 2 S @A Suresh
Loose Tools Ltd. ¥ 31st March 2024 iR Tad @
RIEGIRIIS 2 weTe Rl T4 8
) 40,000
/ AW J/CPC8 HC 1(CAC)/G 10 4 (Sem_2/CBCS HC1(CACHG 11 Contd.
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Balance Sheets

@h—\gﬂ@ﬂﬂg

Particulars Rt

Amount #Ruid (3) Bl

Amount 4R {) Bl
Hitesh Ltd. | Suresh Ltd.

Particulars a3

Hitesh Ltd.

Suresh Ltd.

I. Equity and Liabilities
I 1%
1. Shareholder’s Fund
SIS ffer
(a) Share Capital
O eI
Equity shares of
210 each
o1 10 Sz
Sl
€serve and
v T erﬁaS:rriglus
Surplus in the
Statement of Profit
and Loss
ﬂi@—@ﬁm‘q‘ﬁqf%q
R
2. Current Liabilitieg
el
Trade payableg .
TR &y ¢
Sundry Creditors
fifen_shemmig

Total . |

—_
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|_1,76,000

1,20,000

10,000

46,000

40,000

8,000

4,000

52,000

IL. Assets ™€

1. Non-current Assets
SHEEe Tife
Plant, Property & 1,36,000 52,000

Equipment

T, TG S
2. Non-current

Investments

wEpere R
3,200 shares in 4}0,000 —

Suresh Ltd.

Quresh Ltd.
3,200 b kU]

Total - |1 ,76,000 52,000

The shares were acquired by Hitesh Ltd.
on 3lst March 2024. Prepar€ the

dated Balance Sheet of Hitesh

li
ey n 31st March

Ltd. and guresh Ltd. as 0 .
2024. Show necessary workings.

Contd.
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(9)

—~—,_———f

31.08.2024 Wif§td Hitesh Ltd. 9, Suresh
Ltd. I w¥o@mz wfiezd sfifee)
31.03.2024 wifid® Hitesh Ltd. W

Suresh Ltd. g L‘W@W &g awe 1|
RS SR PG o7t |

What is ‘Value of Right’ in the context
of issue of Rights share ? Explain the

procedure to be followed for issues of
Rights share, 4+6=10

SIS Seeioig Rieeei RIS gy
T 12 ARSI Serorg Rifdegers 1
TSI FRGRE it < |

What is ‘purchase cons
amalgamation ?

RIS ‘TR R o

From the following
calculate the amount

ideration’ in

information

: _ of purchase
consideration. ' 4+6=10
T Bl ST =191 T2 R 3 e
|

ABC Ltd. having 5,000 equity shares

i< 100 51 FETF 5,000 I I SRAAS
ot ABC Ltd. ¥ XYZ Ltd. @ g IE |

XYz Ltd, @ @S fAl 4T AARCI I
T =3

(i) Cash of Rs. 40 per share for every
share of ABC Ltd.

ABC Ltd. F @if= Sl IRw 40 GRICP
faan =9

Issue of three shares of Rs. 100
ry five shares of

(i)
each at par for eve
ABC Ltd.
ABC Ltd. ¥ @f6 #io" SReI#as M
R 100 Tl FeTI TN FEALTR
e 71 29 ,

. Gk

(i) Discharge of Rs. 3,00,000, 18:;,
debentures of ABC Ltd. at ]
premium by issuing 12%
debentures in XYZ Ltd. at per, and
ABC Ltd. 3,00,000 BFIF 10% 51017

<R XYZ
o 10% 90 AR

of Rs. 100 each is taken over by XYZ o, Aeel@ WFW ﬁ% W’
Ltd. XYZ Ltd. agrees to make the Ltd. 9 12%
following payments : LI
Contd.
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(iv) Cash Rs. 80,000 paid to the
creditors of ABC. Ltd. in final
settlement of their accounts.

ABC Ltd. I AT e (0 SE[T
feret fi=ife w19 71w 80,000 T
ey R

Determine the amount of purchase
consideration for amalgamation as

per applicable Accounting
Standard.

AT TRB191 T SRR e 21T
@ afoni T =4t

(h) Briefly explain the difference between :
S+5=10
AL S I T 3

(i) Amalgamation in the nature of

merger and amalgamation in the
nature of purchase

Wﬁﬂ?ﬁ?@ﬁqwiﬁﬂaﬁﬁa
@ P

(i) Rights shares and bonus shares

SfPRYE S AF T Szl
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